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Marking Guidelines






General Marking Instructions

The Grade 12 Essential Mathematics Achievement Test: Marking Guide (June 2019) is based on
Grades 9 to 12 Mathematics: Manitoba Curriculum Framework of Outcomes (2014).

Please ensure that

e the student booklet number matches the number on the Scoring Sheet

e only a pencil is used to complete the Scoring Sheet

e the final test mark is recorded on the Scoring Sheet

e the Scoring Sheet is complete and a copy has been made for school records

Please make no marks in the student test booklets. If the booklets have marks in them, the
marks need to be removed by departmental staff prior to sample marking should the booklet be
selected.

Once marking is completed, please forward the Scoring Sheets to Manitoba Education and
Training using the envelope provided (for more information, see the administration manual).

Marking

The recommended procedure for scoring student responses is as follows:

1. Read the Marking Guide.
2. Study the student samples provided and the rationales for the allotted marks.

Determine the mark for the student’s response by comparing its features with the Marking
Guide descriptions. The descriptions and samples only typify a student’s response to a given
question; an exact match is not anticipated.

The marks allocated to questions are based on the concepts associated with the learning outcomes
in the curriculum. For each question, shade in the circle on the Scoring Sheet that represents the
mark awarded based on the concepts. A total of these marks will provide the preliminary mark.

Errors

Marks are deducted if conceptual or communication errors are committed.

Conceptual Errors

As a guiding principle, students should only be penalized once for each error committed in the
context of a test question. For example, students may choose an inappropriate strategy for a
question, but carry it through correctly and arrive at an incorrect answer. In such cases, students
should be penalized for having selected an inappropriate strategy for the task at hand, but should
be given credit for having arrived at an answer consistent with their choice of strategy.
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Communication Errors

Errors not conceptually related to the learning outcomes associated with the question are called
“Communication Errors” (see Appendix C). These errors result in a 0.5 mark deduction. Each
type of error can only be deducted once per test and is tracked in a separate section on the
Scoring Sheet.

When a given response includes multiple types of communication errors, deductions are
indicated in the order in which the errors occur in the response. No communication errors are
recorded for work that has not been awarded marks. The total deduction may not exceed the
marks awarded.

The student’s final mark is determined by subtracting the communication errors from the
preliminary mark.
Example:

A student has a preliminary mark of 56. The student committed two E1 errors (0.5 mark deduction)
and three E6 errors (0.5 mark deduction).

COMMUNICATION ERRORS/ERREURS DE COMMUNICATION

Shade in the circles below for a maximum total deduction Noircir les cercles ci-dessous pour une déduction maximale
of 3 marks (0.5 mark deduction per error type). Refer to totale de 3 points (déduction de 0,5 point par type
Marking Guide for details. d’erreur). Consulter le Guide de Correction pour plus de
details.
E1l E2 E3 E4 ES E6
Final Answer/ . Transcription/ Whole Units/ Units/ Rounding/
. . Notation - ol i ol .
Réponse finale Transposition Unités entieres Unités Arrondissement
Test mark / Note au test : 56 - 1 = 55
. L 76
Preliminary Mark Communication Errors
Note préliminaire (maximum 3 marks)
Erreurs de communication
(maximum 3 points)
Marking Guidelines

Table Values

One mark will be awarded to a student that circles the correct value in a given table. In other
words, this will be considered the equivalent of the student writing the correct value in the space
provided.
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Follow-through errors

Generally, a student will not be penalized more than once for the same error. A final answer will be
deemed to be correct if it follows correctly from an incorrect intermediate step where marks were
already lost. In multiple-part questions, if an error was made in Part A, but subsequent parts were
completed appropriately based on the incorrect information in Part A, full marks will be awarded
in subsequent parts.

Marks for follow-through errors will not be awarded if

e the answer is wrong and there are no part-mark increments available

e the error is conceptual in nature (e.g., the student used the simple Cosine ratio when the
question called for the use of the Cosine Law)

Additional-information errors

Students can occasionally provide too much information in their answers. When additional
information is provided, it must be clearly indicated as such. For example, if a student is asked to
calculate a probability, then full marks are awarded for a correct answer even if the odds are also
present—provided this additional information is labelled “odds.”

Irregularities in Provincial Tests

During the administration of provincial tests, supervising teachers may encounter irregularities.
Markers may also encounter irregularities during local marking sessions. The appendix provides
examples of such irregularities as well as procedures to follow to report irregularities.

If a Scoring Sheet is marked with “0” only (e.g., student was present but did not attempt any
questions) please document this on the Irregular Test Booklet Report.

Assistance

If any issue arises that cannot be resolved locally during marking, please call Manitoba
Education and Training at the earliest opportunity to advise us of the situation and seek
assistance if necessary.

You must contact the person responsible for this project before making any modifications to the
marking keys.

Allison Potter

Assessment Consultant

Grade 12 Essential Mathematics
Telephone: 204-945-3411

Toll-Free: 1-800-282-8069, ext. 3411
Email: allison.potter@gov.mb.ca
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Vehicle Finance

Question 1 E5.V.1 2 marks

Marjorie borrows $18 000 to finance the purchase of a car. She makes monthly car payments of
$325 for 6 years.

Calculate the total finance charge (interest) she will pay for the loan. (2 marks)

Answer:

Total amount paid: $325x 6 x 12

= $23 400 <1 mark
Finance charge: $23 400 — $18 000
= $5400 <1 mark
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Exemplar 1 (2 marks)

235 x LI 5o, 3.5 %I &:35!%07x®t$awu&

Mark: 0 out of 2
Rationale: Incorrect total amount paid
Incorrect finance charge

Exemplar 2 (2 marks)

éx\;:;’7} 229 %71:&{}3 AC“

Mark: 1 out of 2
Rationale: Correct total amount paid (1 mark)
No calculation of finance charge

Exemplar 3 (2 marks)

S3art 12 26 23,000 £ {7,600 - fyg .

Mark: 1 out of 2
Rationale: Correct total amount paid (1 mark)
Incorrect finance charge
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Question 2 E5.V.1 3 marks

Maria is buying a new vehicle. After making a down payment to the dealership, Maria finances
the remaining balance through her bank. The table below shows the details of the purchase.

Vehicle price $29 000
Down payment $8000
Total tax $3770
Finance charge (interest) $2386
Term 48 months

A) Calculate the total amount that will be paid to the bank. (2 marks)

Answer:

Amount after down payment: $29 000 — $8000
=$21 000 <1 mark
Total amount paid: $21 000 + $3770 + $2386
=$27 156 <1 mark

B) Calculate Maria’s monthly payment. (1 mark)

Answer:
Monthly payment: $21; 56
= $565.75 <1 mark
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Exemplar 1 (3 marks)

A 2900 - s =Y1000

B) 9%@ =24 50

Mark: 2 out of 3
Rationale: Correct amount after down payment in Part A (1 mark)
Incorrect total paid in Part A

ES

Correct answer in Part B (follow-through error) (1 mark)
E5 (does not include units in final answer)

Exemplar 2 (3 marks)
A) fL\OO,(DO

Mark: 3 out of 3

Rationale: Correct amount after down payment in Part A (1 mark)
Correct total paid in Part A (1 mark)
E1 (answer is presented in another part of the question)
E5 (does not include units in final answer)

Correct answer in Part B (1 mark)
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Exemplar 3 (3 marks)
Vehicle price $29 000 ) e\
Down payment $8000
Total Tax $3770
Finance charge (interest) $2386
Term 48 months

o DT 56 15 The amout i

B 27,050 - yq=§5¢575

Mark: 3 out of 3

Rationale: Correct amount after down payment in Part A (1 mark)
Correct total paid in Part A (1 mark)

Correct answer in Part B (1 mark)

10
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Question 3  EsV.i 1 mark

Explain one advantage of financing the purchase of a new car rather than leasing it.

Sample Answers:

— you may use the car for collateral

— you will have something of value at the end of the term (can sell car)

— the total cost of the car will be less than the cost of leasing and buying it out in the end
— there is no limit on kilometres driven

Note to marker: Do not accept “cheaper” without further explanation.
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Exemplar 1 (1 mark)

LF A 6cffa /& ém}, a rvew Car Havs
4’*‘"’4;% é 5, > ‘
? C CCrgt ?f@ Lr Lot //,/Qc/: e cor r'r*ﬁt'&{:ﬁfl/7 .

/v feoar, _
CENG s@u o 12y oy Ao A/ oo ¥ eces
©
Flo s or CHT veoy, ’*!}’_’,zm? for <.

Mark: 0 out of 1
Rationale: Incorrect response (getting car immediately)

Exemplar 2 (1 mark)

0o limids oo d,v‘i\)\ﬁg

Mark: 1 out of 1
Rationale: Correct response (1 mark)
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Question 4 E5.V.1 3 marks

Luc purchases a used vehicle privately. The vehicle costs $12 000 and has a book value of
$10 000. He also pays $50 for a safety inspection.

Calculate the total amount Luc will pay for the vehicle, after taxes. (3 marks)

Answer:
Vehicle: 1.08 x $12 000
=312 960 <1 mark

Safety inspection: 1.05 x $50
=$52.50 <« 1 mark

Total: $12 960 + $52.50
=$13012.50 <1 mark
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Exemplar 1 (3 marks)

\Q Qo0
\0}0001 0,09 g So
sﬂ,ﬁ 50

Mark: 1 out of 3
Rationale: Incorrect tax on vehicle
Incorrect tax on safety inspection
Correct final answer (follow-through error) (1 mark)

Exemplar 2 (3 marks)
Wehice = ! QGO;;
Sk Qoclc &
?‘/D;(;;i( = 302 05 = #2250+ ¢SO
T $52.50
12900
o 087 QL0150
\200 -

]* \ 28\ 5O \

Mark: 2 out of 3

Rationale: Incorrect tax on vehicle (calculates PST on both the book value and the selling price)
Correct tax on safety inspection (1 mark)
Correct final answer (follow-through error) (1 mark)

Exemplar 3 (3 marks)

(.09(\.1,00 0 150) - F15014.00

Mark: 2 out of 3
Rationale: Correct tax on vehicle (1 mark)
Incorrect tax on safety inspection
Correct final answer (follow-through error) (1 mark)
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Question 5 EsV.i 1 mark

State one factor that affects your car insurance premium.

Sample Answers:

— the type of vehicle

— the type of insurance

— the amount of third party liability insurance
— where you live

— your driving record
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Exemplar 1 (1 mark)

\J\)\w&\\\sx BM oL o~ \)0}6 o\ %\ el -

Mark: 0 out of 1
Rationale: Incorrect response

Exemplar 2 (1 mark)

l.A./hQ{. Qje. jOU Q.V‘QCIL'QS-je_nero,[b m°‘.c')

Mark: 0 out of 1
Rationale: Insufficient response

Exemplar 3 (1 mark)

Accidents

Mark: 0 out of 1
Rationale: Insufficient response
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Question 6 E5.V.1 2 marks

You decide to buy the car you have been leasing for the past 3 years. The car had a sticker price
of $32 000, before taxes. The residual value is 40% of the sticker price.

Calculate the residual value of the car, after taxes. (2 marks)

Answer:
Residual value: $32 000 x 0.40x1.13 <1 mark for process
=$14 464 <1 mark
OR
Answer:

Residual value before taxes: $32 000 x 0.40
=$12 800 <1 mark

Residual value after taxes: $12 800x1.13

=$14 464 <1 mark
OR
Answer:
Tax: $32 000 x 0.40 x 0.13
=$1664 <« 1 mark

Residual value after taxes: ($32 000 x 0.40) + $1664
=$12 800 + $1664
=$14 464 <1 mark
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Exemplar 1

(2 marks)

22 000 Con3d) 4,160

G lbo (a0 = H (664 re$dusd  uolul

L \bOo
32,000

Mark: 0 out of 2
Rationale: Incorrect residual value
Incorrect final answer

Exemplar 2

(2 marks)

Shooo = Yo = 11300 2013
~ l4by

Tj? 366y

Mark: 1 out of 2
Rationale: Correct residual value (1 mark)
Incorrect final answer

Exemplar 3

(2 marks)

32,000 x4 =12,300 x |15 - 4.464

4,444 x13 x 3 =580,70%

Mark: 1 out of 2
Rationale: Correct process (1 mark)
Incorrect final answer

Essential Mathematics: Marking Guide (June 2019)
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Question 7 EsV.

3 marks

Juanita buys a new compact car. She is responsible for the following operating costs.

Operating Costs

Cost per kilometre

$0.126/km

Monthly car payment

$350

Juanita drives 15 000 km per year.

Calculate the annual operating costs of the car, before taxes. (3 marks)

Answer:

Cost per kilometre: 15 000 km x $0.126/km

=$1890 <1 mark

Annual payment: $350 x 12

= $4200 <« 1 mark

Annual operating costs: $1890 + $4200

= $6090 « 1 mark

Note to marker: Award one mark for a follow-through error only if one of the two costs have

been calculated correctly.

20
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Exemplar 1

(3 marks)

is0m x 0026 =180
1890 +250 = A0

E5

Mark: 2 out of 3

Rationale: Correct cost per kilometre (1 mark)
Incorrect annual payment
Correct final answer (follow-through error) (1 mark)
E5 (does not include units in final answer)

Exemplar 2

(3 marks)

Compack Cor

\'S, 000 NESER IS
§350 x va = $4, 00 Corwpilyd

Mark: 2 out of 3

Rationale: Correct cost per kilometre (1 mark)
Correct annual payment (1 mark)
No calculation of final answer

Essential Mathematics: Marking Guide (June 2019)
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Question 8 E5.V.1 2 marks

Jafar owns a truck and a hybrid car. The fuel economy of the truck is 9.4 L/100 km. The fuel
economy of the car is 3.5 L/100 km. Jafar drove his truck 17 000 km last year.

Calculate how much less fuel he would have used if he had driven his hybrid car instead of his
truck. (2 marks)

Answer:

Difference in L/100 km: 9.4 /100 km — 3.5 L/100 km

=5.9L/100 km <1 mark
Difference in litres: I L = al
100 km 17 000 km
x=1003 L <1 mark
OR
Answer:
Litres used per 17 000 km:
Car: 35L _ X
100 km 17 000 km
x=595L
<1 mark for process
Truck: 94 L _ X
100 km 17 000 km
x=1598 L

Difference in litres: 1598 L —595 L
=1003 L <1 mark
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Exemplar 1 (2 marks)

F:F’,’ :g,f—-— OO = 0,0Q
13O0

FE"}_LI(_'/——— oo =0.05S
1400

Mark: 0 out of 2
Rationale: Incorrect process
Incorrect final answer

Exemplar 2 (2 marks)

15 < \ogo (\T0ed = 59.°

9.4 = \oe@ X 17000 = 154.9

[00»5 L less

Mark: 1 out of 2
Rationale: Incorrect process
Correct final answer (follow-through error) (1 mark)

Exemplar 3 (2 marks)

0.0%K VT 000=

Mark: 1 out of 2
Rationale: Correct process (litres used by the truck) (1 mark)
Incorrect final answer
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Precision Measurement

Question 9  ESP.I 2 marks

Colette is mixing iced tea in the jug shown below.

State the amount of iced tea in the jug in the form: measurement + uncertainty
(2 marks)

Answer:
Uncertainty: 0.25 L + 2

=0.125L

1.75L + 0.125L
\q/_—/ %/—J
1 mark 1 mark
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Exemplar 1 (2 marks)

Uﬂter‘}a;m\‘/ —7 4 ov- 1wl

AmOunf = \;(995[,'?_‘_ .9 75L

Mark: 0 out of 2
Rationale: Incorrect measurement
Incorrect uncertainty (contradictory information)

Exemplar 2 (2 marks)

) .gLoav

1.9 +6.2= 2L
‘_9-(),2" l.bl

Mark: 0 out of 2
Rationale: Incorrect measurement
Incorrect uncertainty

Exemplar 3 (2 marks)

\\*51.‘.}.: '36\—

Mark: 1 out of 2
Rationale: Correct measurement (1 mark)
Incorrect uncertainty
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Question 10 ESP.1 1 mark

Pierre is a competitive swimmer. He finished a race with a time of 28.17 seconds.

State the precision of the measurement.

Answer:

0.01 second

26
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Exemplar 1 (1 mark)

Nearest l'kuncfre‘ﬂ'\ of o Second
0 00.0d

Mark: 1 out of 1
Rationale: Correct answer (1 mark)

Exemplar 2 (1 mark)
« O\ g
Mark: 1 out of 1
Rationale: Correct answer (1 mark)

ES5 (does not include units in final answer)
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Question 11 ESP.I 1 mark

Kenneth wants to build a shelf with a width of 59 cm + 0.02 cm.

State the maximum acceptable width of the shelf.

Answer:

Maximum width: 59 + 0.02

=59.02 cm <1 mark

28
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Exemplar 1

(1 mark)

59, Aem

Mark: 0 out of 1
Rationale: Incorrect answer

Exemplar 2

(1 mark)

591 0.02 em

Glcm

Mark: 0 out of 1
Rationale: Incorrect answer

Exemplar 3

(1 mark)

588 - 99.0Q
moy 9D9.08 s

Mark: 1 out of 1
Rationale: Correct answer (1 mark)
ES5 (does not include units in final answer)

Essential Mathematics: Marking Guide (June 2019)
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Question 12 Es.P.1 1 mark

Choose the letter that best completes the statement below.
The range of acceptable measurements refers to:

A) the maximum

B) the minimum

C) the precision

D) the tolerance

Answer: D)
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Question 13 Es.P.1 1 mark

The uncertainty of a scale is 0.25 g.

State the precision of the scale.

Answer:

05¢g

Essential Mathematics: Marking Guide (June 2019) 31



Question 14 E5.P.1 2 marks

The uncertainty for the speedometer of a vehicle is 5% of the speedometer’s reading.

Calculate the minimum speed a vehicle could be travelling if its speedometer reads 60 km/h.
(2 marks)

Answer:

Uncertainty: 0.05 x 60 km/h
<1 mark for process

=3 km/h

Minimum speed: 60 km/h —3 km/h
=57 km/h <1 mark
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Exemplar 1 (2 marks)

Jon
b0-\B=53.5

oY $D -\

Mark: 1 out of 2

Rationale: Incorrect uncertainty
Correct final answer (follow-through error) (1 mark)
ES5 (does not include units in final answer)

Exemplar 2 (2 marks)

60 x0.05= 3 km/},

Mark: 1 out of 2
Rationale: Correct uncertainty (1 mark)

Exemplar 3 (2 marks)

57 k~m/A

Mark: 1 out of 2
Rationale: No calculation of uncertainty shown
Correct final answer (1 mark)
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Probability

Question 15 E6.P.1 4 marks

Colin has a painting company. He advertises by delivering brochures. Each brochure costs him
$2.50 to print. He finds that 1 out of 50 brochures results in a painting job where he earns $100.

A) Calculate the expected value of each brochure. (3 marks)

Answer:

$gain: $100 — $2.50 = $97.50

$loss: $2.50
EV = P(win) x $gain — P(lose) x $loss
(= ($97.50) - s ($2.50)
\ 50 ;W30 J
Y Y
1 mark 1 mark
=$1.95-82.45
=-%0.50 <1 mark
OR
Answer:
Average earnings: (0.02) ($100) <1 mark for process
=$2.00 <1 mark
Expected value: $2.00 — $2.50
=-$0.50 <1 mark

Note to marker: Award one mark for a follow-through error only if two correct values have
been used in the process.

B) Justify whether Colin should continue to deliver brochures based on your answer in Part A.
(1 mark)

Answer:

No, the expected value is negative so Colin is losing money.
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Exemplar 1 (4 marks)

A) (sodm) | (s2%0) pos

q9 -0.05 = % 972.95

B) I fhink Twek Solm =would

Comlinwe To deliver
“oro v T 5.

Mark: 1 out of 4
Rationale: Incorrect P(win) x $gain in Part A
Incorrect P(lose) x $loss in Part A
Correct final answer in Part A (follow-through error) (1 mark)

Insufficient response in Part B

Exemplar 2 (4 marks)
A) (PW' n X wininf Jv(ﬁé?L
V2 Z@
Eve( & ) s
— s 0

B [ oinThedd ndt Jolles ﬁébm J&;’

}ZCL@/ ' J’WC;{V)
141 [?@“‘W}/ /6
Up on o o)

Mark: 3 out of 4
Rationale: Correct average earnings in Part A (2 marks)
Incorrect final answer in Part A

Correct response in Part B (1 mark)
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Exemplar 3

(4 marks)

A) %\OO?C‘(‘ _SOSK \o\)\r aQ 5O

L0 - So= $ 2,00 velue pet btochue

B) Jacome :Q 200 pee htowehew
€/\?thch - ® 2.50 pet htove he ©

El !
NQS\"L«KJ(; 504 40 no h‘ﬁ S‘huugd ‘5‘1'@‘:)
514‘\(5\'\1:) #;\’CW\

Mark: 4 out of 4

Rationale: Correct answer in Part A (3 marks)

E1 (answer presented in another part of the question)

Correct response in Part B (1 mark)
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Question 16 E6.P.1 2 marks

The odds against breaking your pencil lead are 323 : 7.

A) State the odds in favour of breaking your pencil lead. (1 mark)

Answer:

7:323 or 7to323

B) State the probability of breaking your pencil lead. (1 mark)

Answer:

—— or 0.02 or 2.12% or seven out of three hundred thirty or 7:330

Note to marker: Accept equivalent representations.
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Exemplar 1

(2 marks)
N4
207+

1!

2z

—
B)

220 = L2VL

Mark: 0 out of 2
Rationale: Incorrect answer in Part A

Incorrect answer in Part B

Exemplar 2

(2 marks)

A) 00\0\3 N -?—‘\JJOV‘)(

%’OVJOUX&/b(Q OMS . LM‘("VVOM%/Q O(Ji'('a'keé

7 SN R

B)(>ﬂ$aé”&%j: 7

a——————

3273

Mark: 1 out of 2
Rationale: Correct answer in Part A (1 mark)

Incorrect answer in Part B

Essential Mathematics: Marking Guide (June 2019)
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Question 17 Eo6P.1 1 mark

Arielle spins the following spinner. The spinner is divided into equal sections.

State the probability of the spinner landing on blue.

Answer:

2
— or 04 or 40% or twooutoffive or 2:5

Note to marker: Accept equivalent representations.
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Question 18 E6.P.1 2 marks

Wooden blocks numbered 1 through 10 are placed in a bag. The blocks are all the same size and
shape. Your teacher pulls out one block, records the number, and puts the block back in the bag.
She repeats this process nine more times.

Her results are recorded below.

10 6 5 6 4 10 4 5 8 4

A) A student states that the experimental probability and the theoretical probability of pulling
Block 4 are the same.

Explain why he is incorrect. (1 mark)

Sample Answers:

— The experimental probability is 30% and the theoretical probability is 10%.
— Theoretically each block should be pulled once. Block 4 was pulled more than once.

B) State which block has the same experimental and theoretical probability of being pulled.
(1 mark)

Answer:

Block 8
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Exemplar 1 (2 marks)

A) EX Wv—}mﬂj\?q\{\,‘ S\/\SL (/\CLS QUMU& H :\’bg oA

Haerekicolly Sha will QU\M H T‘B RV VIVY
B) D ? ('LQYU\

Mark: 1 out of 2
Rationale: Correct response in Part A (1 mark)

Incorrect answer in Part B

Exemplar 2 (2 marks)

A) [3ecavse yoo  only have a |in 1O chance
OF P‘)”"@ a l’f) i+ never chomjej

B)g

Mark: 1 out of 2
Rationale: Incorrect response in Part A

Correct answer in Part B (1 mark)

Exemplar 3 (2 marks)

A) %:emusc ‘“\e.o(‘e&‘ma\\/ %\r\era are  \0 HO{'.\‘\S
w e \OQS $o 'n thesry she Woold

of Pu\\eé, out ewery pymber pram - (O
How QUer  she pu\\e& s0% Mmore Aran e

4
3)8

Mark: 2 out of 2
Rationale: Correct response in Part A (1 mark)

Correct answer in Part B (1 mark)
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Question 19 E6.P.1

1 mark

Emmanuel has two cubes with faces numbered 1 through 6; one red and one blue. The two cubes

are rolled.

The chart below shows the numbers on each cube and the possible sums.

Blue Cube

1 {23 |4]5]6

I {23 |4 ]5]6 7

RedCube | 3 (4 | 56| 7|89

S| 6| 7189|1011

6 | 7|89 |10]11]12

State the probability of the two cubes having a sum greater than 8.

Answer:

10

36 or 028 or 27.78% or tenoutofthirty-six or 10:36

Note to marker: Accept equivalent representations.
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Exemplar 1 (1 mark)
|O or 5/
—-/
3¢ 2
Mark: 1 out of 1
Rationale: Correct answer (1 mark)
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Home Finance

Question 20 E6.H.1 4 marks

Mr. Reid wants to buy a house for $260 000. His monthly mortgage payment would be $1524.
The property taxes are $2220 annually, and the heating costs are $195 monthly. Mr. Reid’s gross
monthly income is $5125.

A) Calculate Mr. Reid’s Gross Debt Service Ratio as a percent. (3 marks)

Answer:

Property Taxes: $2220 +12

=$185
No mark for 1 correct substitution
GDSR = (81524 + $185 + $195) 1 mark for 2 or 3 c?cfrrect substitutions
$5125 or
2 marks for all correct substitutions
1904

5125

=0.371 51...x100

=37.15% <1 mark

B) Explain whether Mr. Reid will be approved for the mortgage. (1 mark)

Answer:

No, Mr. Reid’s GDSR is greater than 32%.
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Exemplar 1 (4 marks)

A) 1534 4 2680 + 195
14 X 100 = 777, < 5
5183

B) No_we pewcentoae s we\\ over 3/,
-

Mark: 3 out of 4
Rationale: Three correct substitutions in Part A (1 mark)
Correct final answer in Part A (follow-through error) (1 mark)
E6 (does not express the answer to the appropriate number of decimal places)

Correct response in Part B (follow-through error) (1 mark)

Exemplar 2 (4 marks)

A) 1524 tigh+(ag
s X[00=43.9Y.

p N0 he WillN0T g6t [t because b 9457 ;s
hiGhey than 337.

Mark: 3 out of 4
Rationale: Correct substitutions in Part A (2 marks)
Incorrect final answer in Part A

Correct response in Part B (follow-through error) (1 mark)

Exemplar 3 (4 marks)
adag) 1SaY + 15 +195  ~
A) —G:*_—,gf _—— —37-‘203

> N

B MIReid wouid not pe a Pproved

Mark: 3 out of 4
Rationale: Correct substitutions in Part A (2 marks)
Correct final answer in Part A (1 mark)
E6 (does not express the answer to the appropriate number of decimal places)

Insufficient response in Part B
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Question 21 E6.H.1 2 marks

Describe the purpose of the following one-time costs that are associated with buying a house.

A) Lawyer Fees (1 mark)

Sample Answer:

A lawyer must notarize all legal documents, such as the land transfer certificate.

B) Home Inspection (1 mark)

Sample Answer:

An inspection helps to make you aware of potential issues with the house.
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Exemplar 1 (2 marks)

A \owger e % gaen Vo O prefessienal lowyer  for

Yheyy  Nelp. Ts - con provemt  yw Gom  buging o

Noase Y (O oovd - Thew  adwve (on S0

by Bom Opwng e dept-

A Yome nepecion 15 Yo ook ragnoll - ine Nouse
and SeE 0Ny Cuwent  Aomage oY pU%S\\o\_e fulure
damoge. s tn sove Y Bom aying A
house M) Wil need o bR fiked Ve often

Mark: 1 out of 2
Rationale: Incorrect response in Part A

Correct response in Part B (1 mark)

Exemplar 2 (2 marks)

A)

Yo  love ony \cﬁa\ \one &
dea\ - A3\

B) Yo See \,\}M§-’ \'\O@L,ﬁ;;;;

Y\ccOL 3

Mark: 1 out of 2
Rationale: Correct response in Part A (1 mark)

Insufficient response in Part B
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Exemplar 3

(2 marks)

A) ar\7

lpsal do cumen tg thot noed Scrwﬁ'h’:zo\‘ﬁon

‘~ O PACV "»0 S'Aﬁy\ ?’0?£P/7 V‘@bd o IDW) s,

B) Ah7 domages That reed 100Kins for 4o bring

\\3%7.

Mark: 2 out of 2

ar denes  Go b7 A :ASchrwh

Rationale: Correct response in Part A (1 mark)

Correct response in Part B (1 mark)
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Question 22 E6H.I 1 mark

Myra owns a house. Even though her old furnace works, Myra replaces it with a new, more
efficient furnace.

Justify why Myra made this decision.

Sample Answers:

— to reduce monthly heating costs
— to increase the resale value of the property
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Exemplar 1 (1 mark)

S o e S " O V\Lj'

Mark: 0 out of 1
Rationale: Insufficient response

Exemplar 2 (1 mark)

To reduce et Coacbown
ooy orint.

Mark: 1 out of 1
Rationale: Correct response (1 mark)

Exemplar 3 (1 mark)

AJJSX"‘OW% to The home ond New owners
Loont nweed 1o ‘('-Q_Q\Qc.e i+,

Mark: 1 out of 1
Rationale: Correct response (1 mark)
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Question 23 E6.H. 1 mark

Adelynn is purchasing a home insurance policy for her house.

Justify why she should choose a comprehensive policy rather than a standard policy.

Answer:

She should choose a comprehensive policy because it covers more potential damages.

54 Essential Mathematics: Marking Guide (June 2019)



Exemplar 1 (1 mark)

Becavse it’s top quality insurance.

Mark: 0 out of 1
Rationale: Insufficient response

Exemplar 2 (1 mark)

To protect all of his things.

Mark: 0 out of 1
Rationale: Insufficient response

Exemplar 3 (1 mark)

This covers a wider rarge of more expersive belorgings.

Mark: 1 out of 1
Rationale: Correct response (1 mark)
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Question 24 E6.H.1 3 marks

Rypin has just purchased a house. He has a mortgage with an interest rate of 3.5% and an opening
balance of $98 000.

A) Calculate the interest on his first monthly mortgage payment. (2 marks)

B)

Answer:

I =Prt
= $98 000 x 0.035 x é <1 mark for all correct substitutions
= $285.83 <« 1 mark

Note to marker: Award the second mark for a follow-through error only if two of three
correct substitutions are made.

Rypin’s monthly mortgage payment is $875.90.

Calculate how much of his first month’s payment will go towards the unpaid balance.
(1 mark)

Answer:

$875.90 — $285.83
=$590.07 <1 mark
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Exemplar 1 (3 marks)

A) & x 9%oe QDQKS’XSH"DE
et

B)

Mark: 1 out of 3
Rationale: Incorrect substitutions in Part A
Correct answer in Part A (follow-through error) (1 mark)

No answer in Part B

Exemplar 2 (3 marks)
Zk2Yelele,

=53\
b o5 ac s ]

=532. 90

Mark: 1 out of 3
Rationale: Incorrect answer in Part A

Correct answer in Part B (follow-through error) (1 mark)
ES5 (does not include units in final answer)

Exemplar 3 (3 marks)
-
"71%\,\'50/; s
(\/% )
6754 ER
B) _145 %%
LG

Mark: 2 out of 3
Rationale: Correct answer in Part A (2 marks)
E5 (does not include units in final answer)

Incorrect answer in Part B
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Question 25 E6H.I

2 marks

Jasmine bought a house for $225 000. She already knows that for the first $200 000, the land

transfer tax will cost $1650.

Calculate the total land transfer tax. (2 marks)

Land Transfer Tax Table
Value of Property Rate
On the first $30 000 0%
~On the next $60 000 0.5%
(i.e., $30 001 to $90 000)
~ On the next $60 000 1.0%
(i.e., $90 001 to $150 000)
~ On the next $50 000 1.5%
(i.e., $150 001 to $200 000)
On amounts in excess of $200 000 2.0%
Answer:
First $200 000: $1650
$225 000 — $200 000 = $25 000
Next $25 000: 0.02 x $25 000 « 1 mark for process

= $500

Total land transfer tax: $1650 + $500
=$2150 <« 1 mark
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Exemplar 1

(2 marks)

200000 2§ 650
16000 % 0.015 2 § ,1¢

1660 +53S T § 900 ¢

Mark: 1 out of 2
Rationale: Incorrect amount on next $25 000
Correct answer (follow-through error) (1 mark)

Exemplar 2

(2 marks)

.0 ((20000) = ©
. 005 (60000) - 300
*O1 ( booeL) < boo
,D‘(Soooo): 750

o3 ( 35000)z SO0
DAISO + 16350
- $3800
Mark: 1 out of 2

Rationale: Correct amount on next $25 000 (1 mark)
Incorrect final answer

Exemplar 3

(2 marks)

TN

N\,

\(o0

,ﬁ"r‘ ;‘.
&_//

Mark: 2 out of 2
Rationale: Correct answer (2 marks)
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Question 26 E6.H.1I

1 mark

Choose the letter that best completes the statement below.

The item that is not an ongoing home maintenance task is:

A) checking for leaky faucets
B) ensuring that the furnace is functioning
C) replacing a shattered window

D) checking hot water tank for leaks

Answer: 0
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Geometry and Trigonometry

Question 27 E6.G.1

3 marks

Hansel is using the following model to build nylon kites.

Calculate the measure of £ A . (3 marks)

Answer:
brict-d?
cos A = YV <1 mark for identification of cosine law
c
2 2 2 3
cos A=+ —107
2(5)(7)
26 o
cos A = ETS ><—1 mark for process/substitution
ZA=cos ' (<0.3714..)
J
ZA =111.80° < 1 mark
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Exemplar 1

(3 marks)

IS0 =]

Mark: 1 out of 3

Rationale: No identification of cosine law
No process/substitution shown
Correct final answer (1 mark)
E5 (uses incorrect units of measure)

Exemplar 2

(3 marks)

7.7% 6*
- H4q + 25~ 10
< -Zb
24950
- ootb6122a3 (¢ 0‘:">

Mark: 2 out of 3

Rationale: Correct identification of cosine law (1 mark)

Incorrect substitution

Correct final answer (follow-through error) (1 mark)
ES5 (does not include units in final answer)

E6 (does not express the answer to the appropriate number of decimal places)

Essential Mathematics: Marking Guide (June 2019)

63



Exemplar 3 (3 marks)
Cos P& = b&-FQ?\—og"_
2%
Cosh z Tugdoed
S 1Y
Casf— 49 106- 10
o
COJA - ¥
70
Coush= 0.3y
= (s 037

/ A-6R

Mark: 2 out of 3

Rationale: Correct identification of cosine law (1 mark)
Correct substitution (1 mark)
Incorrect final answer
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Question 28 E6.G.2 1 mark

Explain why a kite is not a regular polygon.

Sample Answers:

— All sides of a regular polygon are equal whereas a kite has 2 pairs of equal sides.

— All interior angles of a regular polygon are equal whereas a kite has 1 pair of equal interior
angles.
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Exemplar 1 (1 mark)

<. e, (b
€OUn 60‘4-— NS awcm(a“a\‘w S sl I © Wi %-%WW Cra b
\ : :

Mark: 0 out of 1
Rationale: Incorrect response

Exemplar 2 (1 mark)

becovse 4 hps o pulooF copel sides
Hhot oce not o Sefone

Mark: 1 out of 1
Rationale: Correct response

Exemplar 3 (1 mark)

0 rfj\()ar Po(dJM (S oI Te

ﬂ“ tne Sldcs } C«Aﬁ

\eSs QK
e sam

(o)
) \4!' "»L,

lOO'LS | ie «.5

Nor e aMULS O

&S“&S aw "'k)
Som.

Mark: 1 out of 1
Rationale: Correct response (diagram is correctly labelled) (1 mark)

Exemplar 4 (1 mark)

Because not all of its sides are the same.

Mark: 1 out of 1
Rationale: Correct response
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Question 29 E6.G.1 3 marks

Given the following diagram:

L

Calculate the measure of ZL. (3 marks)

Answer:

sinN sinL ) ) ) )
= <1 mark for identification of sine law

n /
sin 110° 3 sin L N
2 8
(sin 110°)(8) o
— 0 =sinL > <1 mark for process/substitution
ZL=sin"" (0.626...) )

/L =38.79° <1 mark
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Exemplar 1 (3 marks)

Sin JI0°_ Sl

/ A &

[ = Bx//C

/o
1 7355

Mark: 2 out of 3
Rationale: Correct identification of sine law (1 mark)
Incorrect process (sine function not used)
Correct final answer (follow-through error) (1 mark)
E5 (does not include units in final answer)
E6 (does not express the answer to the appropriate number of decimal places)

Exemplar 2 (3 marks)

Qiwn 110° - SM\L
—Ja

°)
ZL = SIY\‘\ Cg \6

L)_ - 380ﬁE6

Mark: 3 out of 3
Rationale: Correct identification of sine law (1 mark)
Correct process/substitution (1 mark)
Correct final answer (1 mark)
E6 (rounds incorrectly)
E6 (does not express the answer to the appropriate number of decimal places)
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Question 30 E6.G.2 2 marks

Sherry is building a recycling station with 5 bins. The top view of the recycling station shows
how each bin is an isosceles triangle and that together they form a regular pentagon.

>

A) Calculate the measure of ZA. (1 mark)

Answer:
J A= 360
5
=72° <1 mark

B) Calculate the measure of £ B. (1 mark)

Answer:

_ 180°-72°
2
= 54° <1 mark

ZB

OR

Answer:

o 180°(5 - 2)

Measure of one interior angle = ———=
=108°

_108°

2

=54° <1 mark

ZB
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Exemplar 1 (2 marks)

A) COG (E%‘M’l"hfﬂ l)

B (C° CEgMU\[ﬁhu)

Mark: 1 out of 2
Rationale: Incorrect answer in Part A

Correct answer in Part B (follow-through error) (1 mark)

Exemplar 2 (2 marks)
N LA BT

7 3o, 4
E

Ll (53\ = terd
5

[~]

<B= ez’

Mark: 1 out of 2
Rationale: Correct answer in Part A (1 mark)

Incorrect answer in Part B
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Question 31 E6.G2 1 mark

Explain why a triangle cannot have two obtuse angles.

Sample Answer:

The sum of the angles in a triangle equals 180°. Since an obtuse angle is between 90° and 180°,
two obtuse angles would add up to more than 180°.
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Exemplar 1 (1 mark)

) a8
\ con't roue more Hhan one obtuse an

e 8\\% Decavse

Mo ge 0“8\% houe to  add Up 1o igp°

Mark: 0 out of 1
Rationale: Insufficient response

Exemplar 2 (1 mark)

NO: \oa,ouSC ou«;éc rag s oA Arﬁkﬁ' o\Rr
0G" ond b ir‘\or\jlc w&' bove et

oo\ . t\s)\t AL 40°

Mark: 0 out of 1
Rationale: Insufficient response

Exemplar 3 (1 mark)

K froongle  Connuk nok More  fan  one OtUsE,
Gngle ‘ogcavse ok 13439 ou/\%)&& in a w’é ngie
nSY  botadl \%0° , and { an oottt OA§ e IS
Lokt ° ~ e gL s
o Loaxtx Hhoan qD / NG o 0otud N u
wootd MM AK€ He \,oko& %({,CM{’A’ W\O\}\ \¥Q

Mark: 1 out of 1
Rationale: Correct response (1 mark)
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Question 32 E6G.1 3 marks

Elijah and Dustin live across Oxford Lake from each other.

Calculate the shortest distance that Dustin must travel by snowmobile to visit his friend in
winter. (3 marks)

Oxford Lake

Dustin

Answer:

at=b%+c% - (2bccosA) <1 mark for identification of cosine law

a® =107 +13% ~[2(10)(13)cos 105°]

a’ =269 - 260 cos 105° <1 mark for process/substitution
a =+/336.2929517
a =18.34 km <1 mark
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Exemplar 1

(3 marks)

I8. 2% Em

Mark: 1 out of 3

Rationale: No identification of cosine law
No process/substitution shown
Correct final answer (1 mark)

Exemplar 2

(3 marks)

O = '+ & - (oc CouR)
O - 1221107 - (RDUEX o )
g2= VA A \00 - (260 (U105)

Ot: 2@A - (20X (C5I09)
(- 264 - (-61.29)
0*- 20\

Mark: 2 out of 3

Rationale: Correct identification of cosine law (1 mark)
Correct substitution (1 mark)
Incorrect final answer

Exemplar 3

(3 marks)

Cocme la = (ZF [F= (2 A13%10 % (oe 05 )
= 16Q Heo—(-610.3)
= 36916797
= 33627 vm

Shorteatr ddante : 13527 km

Mark: 2 out of 3

Rationale: Correct identification of cosine law (1 mark)
Correct substitution (1 mark)
Incorrect final answer
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Question 33 E6.G2 1 mark

Identify the statement that best describes a property of a rectangle.
A) The diagonals of a rectangle are congruent.

B) A rectangle has only one pair of parallel sides.

C) The diagonals of a rectangle bisect the interior angles.

D) The diagonals of a rectangle meet at right angles.

Answer: A)
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Statistics

Question 34 Ess.1 2 marks

Hayden is a competitive diver. On his first dive, Hayden receives the following scores from the
judges:

6.5 6.5 6.5 6.0 7.0 6.5 9.5

A) Calculate the trimmed mean by removing the highest and lowest scores. (1 mark)

Answer:

) 3
Trimmed mean: —

=6.6 <1 mark

B) Explain the effect of removing the highest and lowest diving scores on Hayden’s mean
score. (1 mark)

Sample Answers:

— Removing the outliers lowers Hayden’s mean.

— Arithmetic mean: # = 6.93 therefore, the trimmed mean is lower.
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Exemplar 1 (2 marks)

A) q,6(~ OV\.'H‘»(/('
Treed mean- b

B) BIC tggbe 00 018 of dhe dwes There wen
G_ ymstawe Mmage 50 '(—\ was

W of T
Mark: 0 out of 2
Rationale: Incorrect answer in Part A

Incorrect response in Part B

Exemplar 2 (2 marks)

A (065 65 6% 6570 4.5

£S 65 65CS 70

B) Th Yekes N, bLLtoge e BLUMC ok
i Ve e\ ekt 6o\ \pooe) oFf

Mark: 1 out of 2
Rationale: Incorrect answer in Part A

Correct response in Part B (1 mark)

Exemplar 3 (2 marks)
A) “*ré R
ér+£r+cr 45 4770
. = 66
=

B) ‘gew n A —v"’"‘""M r.ean
\arsest ard e seallest ciblieg
VEIV\OVCA

Mark: 1 out of 2
Rationale: Correct answer in Part A (1 mark)

Incorrect response in Part B
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Question 35 Ess.1 2 marks

In gymnastic competitions, a maximum of 10 points can be awarded per category.

The table below shows Alice’s results.

Category Weight Points
Execution 80% 9.8
Difficulty 20% 8.3

Overall Score

Calculate Alice’s overall score using a weighted mean. (2 marks)

Answer:

Execution: 0.80x 9.8
=7.84

<1 mark for process

Difficulty: 0.20x 8.3
=1.66

Overall score: 7.84 +1.66
=95 <1 mark

80 Essential Mathematics: Marking Guide (June 2019)



Exemplar 1

(2 marks)

gx99 =794
Lx§.3 =166
Mark: 1 out of 2

Rationale: Correct process (1 mark)
No final answer

Exemplar 2

(2 marks)

8(9.8)- 784

Mark: 1 out of 2
Rationale: Correct process (1 mark)
No final answer

Exemplar 3

(2 marks)

O.8%7.=7.5
/

~¢’7X?~3=~_@ <i E6
7.4

Mark: 2 out of 2

Rationale: Correct process (1 mark)
Correct final answer (1 mark)
E6 (rounds too soon)
E6 (rounds incorrectly)
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Question 36 Ess2

2 marks

The table below lists the daily earnings of a waiter.

$50 $55 $55 $56 $59
$60 $60 $66 $75 $85
$90 $95 $140 $140 $145

Calculate the percentile rank for a daily earning of $85. (2 marks)

Answer:

PR=2><100
n

=2x100
15

<1 mark for subsitution

=60
560 or 60th or PR60 <1 mark

Note to marker: Award one mark for a follow-through error only if “b” or “n” is substituted

correctly.
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Exemplar 1

(2 marks)

Mark: 1 out of 2
Rationale: Incorrect substitution

Correct final answer (follow-through error) (1 mark)
E4 (does not use whole units in contextual questions involving discrete data)

Exemplar 2

a4
\S

Mark: 1 out of 2

Rationale: Correct substitution (1 mark)
Incorrect final answer

(2 marks)

X100 = (s,

Exemplar 3

CC} ¢ .55) 10O

|

(2 marks)

P‘Cf&t‘}‘{lﬁ Run k :Q?Dnrtoq

Mark: 2 out of 2

Rationale: Correct substitution into an alternate formula (1 mark)
Correct final answer (1 mark)
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Question 37

E5.5.1

3 marks

The table below shows the total amount spent on groceries during a 12-week period.

$72 $126 $84 $113
$113 $142 $126 $126
$97 $111 $108 $95

Calculate the mean, median, and mode for these amounts. (3 marks)

Mean:

Median:

Mode:

Answer:

Mean: $109.42 <1 mark

Median: _ $112 <1 mark

Mode: $126 <1 mark
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Exemplar 1 (3 marks)

28295 a7 i
Mean: \H

Median: n}
Mode: W\5,120_

Mark: 0 out of 3
Rationale: Incorrect answers

3,126, \47

Exemplar 2 (3 marks)

g i
+2 \ %q' as, 23,103, m)m, \\Bllab, %,

Mean: Y 1094 ﬁ E6

Qe 1
Median:§ {| |
E5
Mode: [\

Mark: 2 out of 3
Rationale: Correct mean (1 mark)
Incorrect median
Correct mode (1 mark)
E5 (does not include units in final answer)
E6 (does not express the answer to the appropriate number of decimal places)

Exemplar 3 (3 marks)

E5

TN o
B 2

Median: Woe

Mode: S}(_} L

Mark: 3 out of 3
Rationale: Correct mean (1 mark)
Correct median (1 mark)
Correct mode (1 mark)
ES5 (does not include units in final answer)
E6 (does not express the answer to the appropriate number of decimal places)
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Appendices






Table of Questions by Unit and Learning Outcome

Appendix A:

Vehicle Finance

Question Learning Outcome Mark
1 E5.V.1 2
2a) E5.V.1 2
2b) E5.V.1 1
3 E5.V.1 1
4 E5.V.1 3
5 E5.V.1 1
6 E5.V.1 2
7 E5.V.1 3
8 E5.V.1 2
Total = 17

Precision Measurement

Question Learning Outcome Mark
9 E5.P.1 2
10 E5.P.1 1
11 E5.P.1 1
12 E5.P.1 1
13 E5.P.1 1
14 E5.P.1 2
Total = 8

Probability

Question Learning Outcome Mark
15 a) E6.P.1 3
15 b) E6.P.1 1
16 a) E6.P.1 1
16 b) E6.P.1 1
17 E6.P.1 1
18 a) E6.P.1 1
18 b) E6.P.1 1
19 E6.P.1 1
Total = 10
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Home Finance

Question Learning Outcome Mark
20 a) E6.H.1 3
20 b) E6.H.1 1
21 a) E6.H.1 1
21b) E6.H.1 1

22 E6.H.1 1
23 E6.H.1 1
24 a) E6.H.1 2
24 b) E6.H.1 1
25 E6.H.1 2
26 E6.H.1 1
Total = 14
Geometry and Trigonometry
Question Learning Outcome Mark
27 E6.G.1 3
28 E6.G.2 1
29 E6.G.1 3
30 a) E6.G.2 1
30 b) E6.G.2 1
31 E6.G.2 1
32 E6.G.1 3
33 E6.G.2 1
Total = 14
Statistics

Question Learning Outcome Mark
34 a) E5.5.1 1
34 b) E5.S.1 1

35 E5.S.1 2
36 E5.S.2 2
37 E5.S.1 3

Total = 9
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Appendix B:
Irregularities in Provincial Tests

A Guide for Local Marking

During the marking of provincial tests, irregularities are occasionally encountered in test
booklets. The following list provides examples of irregularities for which an lrregular Test
Booklet Report should be completed and sent to the department:

e completely different penmanship in the same test booklet

e incoherent work with correct answers

notes from a teacher indicating how he or she has assisted a student during test
administration

student offering that he or she received assistance on a question from a teacher
student submitting work on unauthorized paper

evidence of cheating or plagiarism

disturbing or offensive content

no responses provided by the student or only incorrect responses (“0”)

Student comments or responses indicating that the student may be at personal risk of being
harmed or of harming others are personal safety issues. This type of student response requires
an immediate and appropriate follow-up at the school level. In this case, please ensure the
department is made aware that follow-up has taken place by completing an Irregular Test
Booklet Report.

Except in the case of cheating or plagiarism where the result is a provincial test mark of 0%,

it is the responsibility of the division or the school to determine how they will proceed with
irregularities. Once an irregularity has been confirmed, the marker prepares an Ilrregular Test
Booklet Report documenting the situation, the people contacted, and the follow-up. The original
copy of this report is to be retained by the local jurisdiction and a copy is to be sent to the
department along with the test materials.
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Irregular Test Booklet Report

Test:

Date marked:

Booklet No.:

Problem(s) noted:

Question(s) affected:

Action taken or rationale for assigning marks:
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Follow-up:

Decision:

Marker’s Signature:

Principal’s Signature:

For Department Use Only—A fter Marking Complete

Consultant:

Date:
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Appendix C:
Communications Errors

Communication Errors

Communication errors are errors not conceptually related to the learning outcomes associated
with the question. The following communication errors will result in a 0.5 mark deduction. Each
error can only be deducted once per test and is tracked in a separate section on the Scoring
Sheet.

The total mark deduction for communication errors for any student response is not to exceed
the marks awarded for that response. For example, there would be no communication error
deductions if no marks were awarded for a given response.

E1l (Final Answer)
« final answer not clearly indicated (e.g., 3/4 and 3:1 presented, but final answer not
indicated)
e answer is presented in another part of the question
e too much information is presented in the answer and the information is numerically and
conceptually correct (If contradictory information is provided, no mark is awarded.)

E2 (Notation)

¢ dimensions written in an alternative form than requested (e.g., write the tolerance in

. 1 . .
the form nominal value if tolerance and student gives maximum J—rgolerance )

e answer expressed in an alternative form than requested (e.g., express probability as a
percentage and student gives a decimal form)

E3 (Transcription/Transposition)

e makes a transcription error (inaccurate transferring of information from one part of the
page to another)
e makes a transposition error (changing order of digits)

E4 (Whole Units)

¢ does not use whole units in contextual questions involving discrete data (e.g., people,
cans of paint, percentile rank)

E5 (Units)

e uses incorrect units of measure

¢ does not include units in final answer (e.g., missing dollar sign for monetary values,
missing degrees for angles)

e answer stated in gradians or radians instead of degrees

E6 (Rounding)

e rounds incorrectly
e rounds too soon

e does not express the answer to the appropriate number of decimal places
(e.g., monetary values are not expressed to two decimal places)
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